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Y=245 (dx=-1.7e-01, do=3.4e-02)

f=4, X=3999.8

Y=491 (dx=-1.7e-01, do=-5.9e-03)

T pfsArm
| ™ (x=4004.68, 0=1.47)

1 calExp
= (x=4004.51, 0=1.51)

e Residual*s
= Trace

T pfsArm
1 = (x=4002.09, 0=1.29)
1 calExp
= (x=4001.92, 0=1.28)
m— Residual*s
== Trace

Y=1228 (dx=-2.9e-02, do=1.2e-02)

Y=1473 (dx=-3.4e-02, do=-1.7e-02)

e Residual*5
= Trace

I pfsArm I pfsArm
I = (x=3996.63, 0=1.45) | = (x=3995.69, 0=1.49)

— 1 calExp . 1 calExp
— (x=3996.60, 0=1.47) = (x=3995.65, 0=1.47)

e Residual*5
= Trace

e Residual*5
w— Trace

1 1
Y=2210 (dx=-1.5e-02, do=-7.9e-03) Y=2456 (dx=-2.0e-02, do=-3.4e-02)
pfsArm I pfsArm
- | ™ (x=399534, 0=1.30) . | ™ (x=3995.69, 0=1.44)
I r— ((:LE;sts,Bs, 0=1.29) I r— ((:LE;QP% 67, 0=1.41)

e Residual*5
= Trace

Y=3193 (dx=-3.1e-02, do=-2.3e-02)

Y=3439 (dx=-5.0e-02, do=6.7e-04)

pfsArm
T I =™ (x=3999.53, 0=1.34)
| calExp
m—(x=3999.50, 0=1.32)
= Residual*5
- Trace

T pfsArm
I ™ (x=4001.59, 0=1.36)

| calExp

= (x=4001.54, 0=1.36)
= Residual*5
- Trace

3990 4000 4010

3990 4000 4010

Y=736 (dx=-1.0e-01, do=-5.3e-02)

pfsArm
| ™ (x=3999.65, 0=1.48)

- 1 calExp

= (x=3999.55, 0=1.43)
m— Residual*s
== Trace

Y=1719 (dx=-5.0e-02, do=-2.5e-02)

pfsArm
| ™ (x=3995.36, 0=1.31)
calExp
= (x=3995.31, 0=1.28)
= Residual*5
= Trace

Y=2702 (dx=-6.2e-02, do=-5.4e-02)

pfsArm

| ™ (x=3996.64, 0=1.36)
1 calExp

m—(x=3996.58, 0=1.31)

e Residual*s
== Trace

Y=3684 (dx=4.0e-02, do=3.4e-02)

T pfsArm
1 m—(x=4004.25, 0=1.28)
I calExp

= (x=4004.28, 0=1.31)

e Residual*s
= Trace

3990 4000 4010 4020

Y=982 (dx=-7.2e-02, do=-5.1e-03)

pfsArm
1 = (x=3998.12, 0=129)
1 calExp

-1 = (x=3998.05, 0=1.28)

1

Y=1965 (dx=-3.2e-02, do=-8.0e-03)
I pfsArm
1 = (x=3995.20, 0=1.28)

1 calExp
= (x=3995.17, 0=127)

e Residual*5

1
Y=2947 (dx=-2.8e-02, do=-1.5e-02)
I pfsArm
- 1 = (x=3997.98, 0=1.25)
I r— (c;f;ggms,a:l 24)

e Residual*5
== Trace

Y=3930 (dx=2.3e-02, do=5.3e-02)

pfsArm
| ™ (x=4007.39, 0=1.30)

calExp
= (x=4007.41, 0=1.36)
m—Residual*s
- Trace

4000 4010 4020
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Y=245 (dx=-6.0e-02, do=2.7e-02)

f=10, X=3962.4

Y=491 (dx=-7.7e-02, do=2.9e-03)

pfsArm
| ™ (x=3967.30, 0=129)

calExp
= (x=3967.24, 0=1.32)

w— Residual*5
= Trace

pfsArm
| ™ (x=3964.55, 0=1.30)

calExp
= (x=3964.48, 0=1.30)
m— Residual*s

== Trace

pfsArm
| =™ (x=3950.45 0=130)

1 calExp
— (x=3959.44, 0=1.27)

w—— Residual*5

= Trace

T fSArm
| ™ (x=3958.58, 0=1.29)

1 calExp
= (x=3958.58, 0=1.28)

m— Residual*5

= Trace

calExp
= (x=3958.13, 0=124)

m—— Residual*5
w— Trace

1 1

Y=2210 (dx=3.4e-02, do=-1.6e-02) Y=2456 (dx=8.6e-03, do=-9.0e-03)
T pfsArm 1 I pfsArm
1 = (x=3958.09, 0=1.26) | = (x=3958.550=1.26)

calExp
m—(x=3958.56, 0=1.26)
m— Residual*5

- Trace

Y=3193 (dx=1.1e-02, do=-3.6€-03)

Y=3439 (dx=-8.7e-03, do=2.6e-03)

T pfsArm
1 = (x=3962.18, 0=126)

calExp

(x=3962.19, 0=1.25)
e Residual*5
| Trace

pfsArm
= (x=3964.20, 0=1.25)

calExp
= (x=3964.19, 0=1.25)
m— Residual*s
- Trace

3950 3960 3970

3950 3960 3970

Y=736 (dx=-9.2e-02, do=-9.8e-03)
T

pfsArm
| ™ (x=3962.41, 0=1.30)

calExp
= (x=3962.31, 0=1.29)
—Residual*s
== Trace

fsArm
= (x=3958.10, 0=127)
calExp
= (x=3958.09, 0=1.26)
e Residual*5
= Trace

1

Y=2702 (dx=1.2e-02, do=-2.2e-02)
I pfsArm
| ™ (x=3959.39, 0=126)

calExp
m—(x=3959.40, 0=1.24)
m——Residual*5

= Trace

1
Y=3684 (dx=-2.5e-02, do=2.0e-02)

pfsArm
| ™ (x=3966.66, 0=126)

calExp
= (x=3966.63, 0=1.28)
m— Residual*5
= Trace

1
3980 3950 3960 3970 3980

Y=982 (dx=-5.3e-02, do=-7.6e-03)

pfsArm
| ™ (x=3960.70, 0=129)

1 calExp
= (x=3960.65, 0=1.29)

= Residual*5

== Trace

1

Y=1965 (dx=6.8e-03, do=-2.0e-02)
T fSArm
| ™ (x=3957.88, 0=1.26)

calExp
= (x=3957.88, 0=1.24)
m—Residual*5
== Trace

1

Y=2947 (dx=5.8e-03, do=-3.0e-02)
I pfsArm
| ™ (x=3960.57,0=126)

calExp
—(x=3960.58, 0=1.23)
e Residual*5
- Trace

Y=3930 (dx=-7.3e-03, do=3.7e-02)

T pfsArm

| =™ (x=3969.72, 0=1.26)
calExp

= (x=3969.71, 0=1.30)

— Residual*s

- Trace

3960 3970 3980
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Y=245 (dx=4.2e-02, do=8.4e-02)

f=11, X=3956.1

Y=491 (dx=4.3e-01, do=1.0e-01)

pfsArm
(x=3957.86, 0=1.68)
calExp
= (x=3957.90, 0=1.76)
e Residual*s
= Trace

pfsArm
= (x=3957.27, 0=2.43)
calExp
- (x= 3957 70, 0=2.53)

wem_ Residual*5

Y=1228 (dx=-1.9e-02, do=-7.6e-02)

"'{!:n;—\;
1
| |
1
|
=
1 §

™ (x=A3952.50, 0=2.48)
calExp

= (x=3952.48, 0=2.40)

= Residual*5

= Trace

pfsArm
— (x 3951.02, 0=2.37)

calExp
= (x=3951.09, 0=2.34)
= Residual*5

T
1
1
|
1 - Trace
1
1
1

Y=2210 (dx=5.8e-03, do=-1.1e-02)

=<

Y=736 (dx=2.4e-01, do=-4.0e-02)

pfsArm
= (x=3955.75, 0=2.48)
calExp
= (x=3955.99, 0=2.44)
— Residual*s
== Trace

L el

Y=982 (dx=2.2e-01, do=8.0e-02)

Y=1719 (dx—-2 9e-02, 'do=-3.5e- 02)

L T pfsArm
== (x=3952.65, 0=2.25)
calExp
- x= 3952 86, 0=2.33)
— Residual*s
== Trace
- -

fSArm
— (x=3945.91, 0=1.76)

calExp
= (x=3948.88, 0=173)
= Residual*5
== Trace

o

Y=2702 (dx=-4.5e-02, do=-8.8e-02)

Y=1965 (dx=9.2e-03, do=8.1e-03)

pfsArm
== (x=3949.19, 0=1.96)
calExp
= (x=3949.20, 0=1.97)
e Residual*5

T
1
1
|
1 - Trace
1
1
1

S

Y

Il
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o
Q

Il

g
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®
o
N

pfsArm
= (x=3948.87, 0=175)

calExp
= (x=3948.88, 0=1.74)

= Residual*5
w— Trace

pfsArm
= (x=3951.07, 0=2.38)

calExp
(x=3951.12, 0=2.34)

e Residual*5

w Trace

Y=3193 (dx=-6.6e-03, do=-5.1e-02)

pfsArm
= (x=3953.85, 0=2.12)

calExp
= (x=3953.84, 0=2.06)
= Residual*5
- Trace

pfsArm
= (x=3954.89, 0=174)

calEx
- (x= 3954 91, 0=1.73)
= Residual*5
- Trace

3940 3950 3960 3970

3950 3960 3970

pfsArm
= (x=3952.81, 0=2.37)

calExp
m—(x=3952.77, 0=2.28)
e Residual*5

== Trace

I
| S—

Y=3684 (dx=5.0e-03, do=9.5e-02)

pfsArm
= (x=3953.03, 0=2.36)

calExp
= (x=3953.16, 0=2.33)

e Residual*5

pfsArm
= (x=3959.11, 0=2.24)

Il

calExp
= (x=3959.11, 0=2.33)
e Residual*s
= Trace

_ 'EF"I' -

pfsArm
= (x=3962.14, 0=2.20)

calExp
= (x=3961.85, 0=2.20)
m—Residual*s

3950 3960 3970

3950 3960 3970
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Y=245 (dx=-1.0e-01, do=5.9e-02)

f=12, X=3950.0

Y=491 (dx=-9.3e-02, do=2.9e-02)

T pfsArm
| = (x=395475,0=127)

. 1 calExp
= (x=3954.65, 0=1.33)

w— Residual*5
= Trace

T pfsArm
1 = (x=3952.11, 0=127)
1 calExp
= (x=3952.01, 0=1.30)
m— Residual*5
== Trace

Y=1228 (dx=-6.6e-02, do=-2.1e-03)

Y=1473 (dx=-6.4e-02, do=-5.3e-03)

m—— Residual*5
= Trace

T fsArm T pfsArm
1 = (x=3947.05, 0=1.26) 1 = (x=3946.19, 0=1.26)
1 calExp 1 calExp

T = (x=3946.99, 0=1.26) T = (x=3946.12, 0=1.25)

m—— Residual*5
= Trace

Y=2210 (dx=-2.0e-02, do=-7.4e-03)

Y=2456 (dx=-9.8e-03, do=-1.3e-02)

m—— Residual*5
w— Trace

pfsArm pfsArm
| = (x=3945.65, 0=1.25) i 1 = (x=3946.16, 0=1.24)
1 calExp 1 calExp
= (x=3945.63, 0=1.24) = (x=3946.15, 0=1.23)

m— Residual*5
= Trace

Y=3193 (dx=-3.9e-02, do=4.8e-03)

Y=3439 (dx=-4.0e-02, do=1.2e-02)

T pfsArm
| ™ (x=3949.69, 0=1.26)

calExp
— (x=3949.65, 0=1.27)
w— Residual*5
= Trace

pfsArm
| ™ (x=3951.69, 0=125)

| calExp

(x=3951.65, 0=1.26)
m— Residual*5
= Trace

3940 3950 3960

3940 3950 3960

Y=736 (dx=-1.0e-01, do=1.1e-02)

pfsArm
1 = (x=3949.98, 0=1.26)
1 calExp
= (x=3949.88, 0=1.27)

m—— Residual*5
== Trace

-1 = (x=3948.18, 0=1.28)

Y=1719 (dx=-4.9e-02, do=4.3e-03)

pfsArm T
= (x=3945.65, 0=1.26) 1
calExp 1
— (x=3945.60, 0=1.26)
m— Residual*5
= Trace

Y=2702 (dx=-4.8e-02, do=6.7e-04)

pfsArm T
= (x=3946.99, 0=124) 1
calExp 1

| = (x=3946.95, 0=1.24)
m—— Residual*5
= Trace

Y=3684 (dx=-4.4e-02, do=4.4e-02)

Y=982 (dx=-1.1e-01, do=7.0e-03)

pfsArm
| ™ (x=394829,0=127)
1 calExp

= Residual*5

== Trace

Y=1965 (dx=-3.4e-02, do=-4.2e-03)

pfsArm T
= (x=3945.50, 0=125) 1

calExp 1
= (x=3945.46, 0=1.25)

m—— Residual*5
= Trace

1

Y=2947 (dx=-3.8e-02, do=-1.7e-02)
I pfsArm
1 = (x=3948.16, 0=1.24)
1 — ff‘:?&s.u,a:l 23)

m——Residual*5
== Trace

pfsArm
| ™ (x=3954.19, 0=1.24)

calExp
= (x=3954.15, 0=1.29)
m—Residual*5
- Trace

Y=3930 (dx=-4.9e-03, do=5.5e-02)

T pfsArm
| = (x=3957.22, 0=124)

calExp
= (x=3957.22, 0=1.30)
m—Residual*5

3940 3950 3960 3970

3950 3960 3970
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Y=245 (dx=-9.4e-02, do=2.9e-02)

f=15, X=3931.3

Y=491 (dx=-1.0e-01, do=3.1e-02)

. T pfsArm
1 = (x=3936.08, 0=1.24)

1 calExp
= (x=3935.99, 0=127)

w— Residual*5
= Trace

pfsArm
| ™ (x=3933.40, 0=1.26)

- 1 calExp

= (x=3933.30, 0=1.29)

m— Residual*5
== Trace

Y=1228 (dx=-3.9e-02, do=-2.5e-03)

Y=1473 (dx=-4.6e-02, do=-1.6e-03)

pfsArm
| =™ (x=3928.42,0=126)

calExp
= (x=3928.38, 0=1.25)
w—— Residual*5

= Trace

pfsArm
| ™ (x=3927.57, 0=126)
calExp
= (x=3927.52, 0=1.25)
m— Residual*5
= Trace

Y=2210 (dx=1.5e-03, do=-1.8e-03)

Y=2456 (dx=3.4e-03, do=-1.4€-02)

(x=3927.10, 0=1.22)
m—— Residual*5
w— Trace

I pfsArm I pfsArm
1 = (x=3927.10, 0=1.23) | = (x=3927.55,0=124)
- 1 calExp 1 calExp

—(x=3927.55, 0=1.22)
m— Residual*5
= Trace

1 1
Y=3193 (dx=-1.5e-02, do=1.8e-03) Y=3439 (dx=-2.6e-02, do=1.3e-02)
T pfsArm T pfsArm
1 = (x=3931.09, 0=1.23) - 1 = (x=3933.06, 0=122)
T I r— (CEI:E;QPEII.OS, 0=1.23) I — (c:I:EBX9p33 03, 0=1.24)

m— Residual*5
= Trace

3920 3930 3940

3920 3930 3940

Y=736 (dx=-8.6e-02, do=2.7e-02)

pfsArm
| ™ (x=393131,0=125)
calExp
-1 = (x=3931.22, 0=128)
—Residual*s
== Trace

1
Y=1719 (dx=-3.3e-02, do=1.0e-02)
I fsArm
1 = (x=3927.11, 0=1.23)
i 1 calExp

— (x=3927.07, 0=1.24)
e Residual*5
== Trace

1
Y=2702 (dx=-2.8e-02, do=-2.1e-02)
. I pfsArm
| ™ (x=3928.38,0=123)
1 calExp

m—(x=3928.35, 0=1.21)
m—— Residual*5
- Trace

1
Y=3684 (dx=-3.5e-02, do=>5.0e-02)
N T pfsArm
| ™ x=3935.46,0=124)
| — (cff;gpzs.n, 0=1.29)

m— Residual*5

3920 3930 3940 3950

Y=982 (dx=-7.7e-02, do=-1.6e-03)
T

pfsArm
| ™ (x=3929.63,0=127)

1 calExp
-1 = (x=3929.55, 0=1.27)

= Residual*5
== Trace

Y=1965 (dx=-9.8e-03, do=-3.0e-03)

I fsArm
| ™ (x=3926.88, 0=126)

- 1 calExp
= (x=3926.87, 0=125)

m——Residual*5
= Trace

1
Y=2947 (dx=-2.2e-02, do=-1.4e-02)
I pfsArm
- | = (x=3929.52,0=124)
1 calExp

(x=3929.50, 0=1.22)
m——Residual*5

Y=3930 (dx=1.5e-03, do=4.3e-02)

pfsArm
| ™ (x=3938.45,0=124)

calExp
= (x=3938.45, 0=1.28)
m—Residual*5

3930 3940 3950
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Y=245 (dx=-2.9e-02, do=1.6e-01)

f=16, X=3925.0

Y=491 (dx=8.2e-02, do=9.3e-02)

pfsArm T
= (x=3929.82, 0=1.31) 1

calExp
= = (x=3929.79, 0=1.47)

w— Residual*s
== Trace

pfsArm
= (x=3927.37, 0=1.50)
calExp
= (x=3927.45, 0=1.60)
—_ Residual*5
w | Trace

Y=1228 (dx=-1.7e-02, do=-1.6e-02)

Y=736 (dx=9.3e-03, do=9.3e-02)

pfsArm

= (x=3925.35, 0=1.50)
calExp

= (x=3925.36, 0=1.59)

=] e Residual*5
== Trace

]

Y=1719 (dx=-8.6e-02, do=3.1e-02)

Y=3193 (dx=-

pfsArm
= (x=3924.77, 0=1.35) 1

calExp

(x=3924.73, 0=1.35)
= Residual*5
| == Trace

pfsArm

= (x=3926.79, 0=1.33)
calExp

- (x= S0, 81, 0=1.33)

= Residual*5

- Trace

3910 3920 3930

3940 3910

3920

calExp
| = (x=3920.68, 0=1.35)

pfsArm I o pfsArm pfsArm I
= (x=3922.38, 0=1.48) 1 == (x=3921.45, 0=1.46) = (x 3920.86, 0=1.31) 1
calExp calEx 1
| = (x=3922.36, 0=1.46) = x= 381, 47, 0=1.40) I R (x=3920.77, 0=1.34)
= Residual*5 e Residual*5 = Residual*5
- Trace 1 - Trace - Trace
| |
| |
_‘. 1
[ r— - I — —
T T T T L T
Y=2210 (dx=-4.6e-02, do=9.4e-03) Y=2456 (dx=4. 3e- 03, do=-5.4e- 02) Y=2702 (dx=-1.8e-02, do=-5.9e-02)
pfsArm T pfsArm — pfsArm T
= (x=3920.84, 0=1.32) 1 = (x=3921.46, 0=1.44) = (x=3922.38, 0=1.50) 1
calExp calExp calExp
= = (x=3920.80, 0=1.33) = (x=3921.46, 0=1.39) = (x=3922.37, 0=1.44)
= Residual*5 = Residual*5 = Residual*5
= Trace = Trace - Trace
- -
T

Y=3684 (dx=1.6e-01, do=4.4e-02)

pfsArm
— (x=3929.38, 0=1.45)

calExp
(x=3929.54, 0=1.50)
e Residual*5
= Trace

3920 3930 3940

Y=982 (dx=-3.0e-02, do=-2.2e-02)

pfsArm T
= (x=3923.50, 0=1.46) 1

calExp
= (x=3923.47, 0=1.44)
m— Residual*s

== Trace

Y=1965 (dx=-6.4e-03, do=-2.8e-02)

pfsArm
= (x=3920.68, 0=1.38)

e Residual*5
= Trace

—

pfsArm I
= (x=3923.44, 0=1.44) 1
calExj

(x=3923.44, 0=1.43)
e Residual*5
= Trace

pfsArm
= (x=3932.35, 0=145) 1

calExp
= (x=3932.37, 0=1.55)
e Residual*5
= Trace

T—-
1

3920 3930 3940
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Y=245 (dx=4.7e-01, do=3.3e-02)

f=17, X=3918.6

Y=491 (dx=-2.1e-01, do=8.8e-02)

pfsArm
= (x=3923.18, 0=1.83)

calExp
- (x= 3923 65, 0=1.87)
— Residual*s

f = Trace

pfsArm
= (x=3920.27, 0=1.83)
calExp
- (x= 3920 06, 0=1.92)
m— Residual*s
== Trace

Y=736 (dx=1.4e-01, do=1.7e-01)

pfsArm
= (x=3918.21, 0=1.87)
calEx
_(x= 3918 35, 0=2.05)
— Residual*s
== Trace

-
T T T
Y=1228 (dx=-1.7e-01, do=3.8e-02) Y=1473 (dx=-5.0e-01, do=6.9e-02)
I pfsArm 1
- 1 = (x=3915.83, 0=2.00)
NN M=
= (x=3915.33, 0=2.07)
___ pfsAm I m—Residual*s
(x=3915.35, 0=1.79) ] = Trace
calExp
= (x=3915.18, 0=183) 1
[ Residual*5 po
- Trace

limImil

Y=2210 (dx 4.2e-01, do=1.8e- 01

Y=2456 (dx=2.4e-01, do=-2.3e-01)

pfsArm

= (x=3914.17, 0=179)
calExp

= (x=3914.38, 0=1.94)

= Residual*5

= Trace

pfsArm
= (x=3914.02, 0=1.93)

calExp
" (x=3914.44, 0=2.12)
= Residual*5
- Trace

Tl

pfsArm
= (x=3914.28, 0=1.86)

calExp
= (x=3914.52, 0=1.63)
e Residual*5

= Trace

hit--

Y=2702 (dx= 1.3e- 01, do=1.3e- 01

x=3.3e-02, do=1.8e-01)

I

1N

1

- (x=3915.30, 0=1.79)

calExp
m—(x=3915.43, 0=1.92)

™| == Residual*5

1= =T

== Trace

_'I:.

fla:

=<
1

pfsArm
= (x=3918.34, 0=1.43)

calExp.

(x=3918.48, 0=1.40)
e Residual*5
i Trace

pfsArm
= (x=3920.10, 0=1.86)

calExp
= (x=3920.13, 0=2.04)
e Residual*5
= Trace

3684 (dx=-6.6e-02, do=-3.0e-03)

Y=982 (dx=-5.1e-01, do=1.5e-01)

T pfsArm
1 = (x=3917.91, 0=2.00)
1 o calExp
- (x=3917.40, 0=2.15)
I — Residual*s
| = Tace
1 —
-

—

= I - b -

I
Y=1965 (dx=2.8e-02

e

. do=-6.7e-02)

pfsArm
= (x=3914.32, 0=172)
calExp
= (x=3914.35, 0=1.66)
e Residual*5
= Trace

Y=2947 (dx—-ll 3e-01, do=-4.6e- 02)

j

pfsArm
= (x=3916.24, 0=1.88)

calExp
= (x=3916.11, 0=1.83)

e Residual*5

= Trace

Y=3930 (dx=-2.6e-01, do=2.0e-01)

3910

3920 3930

3910

3920

3930

1]

pfsArm

(x 3922.38, 0=1.71)
calExp

= (x=3922.32, 0=1.71)

= Residual*s
== Trace

il

3910

3920

3930

L]

=
- lJ
pfsArm
= (x=3925.20, 0=1.82)

calExp
— (x=3924.95, 0=2.02)
™ wm Residual*5
== Trace

11
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Y=245 (dx=-1.2e-01, do=2.7e-02)

f=19, X=3906.3

Y=491 (dx=-1.3e-01, do=3.5e-02)

T pfsArm
| = (x=391071,0=1.37)

1 calExp
= (x=3910.59, 0=1.39)

w— Residual*5

- 1 calExp

pfsArm
| ™ (x=390823,0=127)

= (x=3908.10, 0=1.30)

m— Residual*5
== Trace

Y=1228 (dx=-7.5e-02, do=-3.6e-04)

Y=1473 (dx=-2.6e-02, do=-2.6e-03)

pfsArm
| =™ (x=3903.34,0=128)
calExp
= (x=3903.26, 0=1.28)
w—— Residual*5
= Trace

. I pfsArm

| ™ (x=3902.48, 0=1.30)

1 calExp
= (x=3902.46, 0=1.30)
m— Residual*5
= Trace

1
Y=2210 (dx=-1.5e-02, do=-1.1e-02) Y=2456 (dx=-1.0e-02, do=-2.9e-02)
. T pfsArm pfsArm
| ™ (x=3902.08,0=123) ] ™ (x=3902.48, 0=128)
1 calExp 1 calExp

(x=3902.06, 0=1.22)
m—— Residual*5
w— Trace

m—(x=3902.47, 0=1.25)
m— Residual*5
= Trace

1 1
Y=3193 (dx=-3.1e-02, do=-1.3e-02) Y=3439 (dx=-2.5e-02, do=1.0e-02)
. T pfsArm T pfsArm
1 = (x=3905.99, 0=1.23) 1 = (x=3907.92, 0=1.23)
I r— (CEI:E;QPDS.QS, 0=1.22) -1 I — (c:I:EBXgO7 90, 0=1.24)

1 e Residual*5
| Trace

m— Residual*5
= Trace

3890 3900 3910 3920

3900 3910 3920

Y=736 (dx=-1.3e-01, do=2.1e-02)

pfsArm
| ™ (x=3906.18, 0=1.26)
1 calExp
. = (x=3906.05, 0=1.28)

m—— Residual*5

Y=1719 (dx=-3.9e-02, do=1.2e-02)

T I fsArm
1 = (x=3902.07, 0=124)

1 calExp
= (x=3902.03, 0=1.25)

m——Residual*5
= Trace

1
Y=2702 (dx=-2.7e-02, do=-3.1e-02)
- I pfsArm
| ™ (x=3903.31, 0=1.26)
I r— (c:f;;oz.za, 0=1.23)

m——Residual*5
== Trace

It

Y=3684 (dx=-3.0e-02, do=3.4e-02)
T pfsArm
| = (x=391027,0=1.24)
| — (cff;gplo.u, 0=1.28)

m— Residual*5

3900 3910 3920

Y=982 (dx=-7.9e-02, do=-7.1e-03)
T

pfsArm
| ™ (x=3904.50, 0=132)

. 1 calExp

= (x=3904.42, 0=1.31)
m—Residual*s

Y=1965 (dx=-1.5e-02, do=1.5e-03)

. T pfsArm
1 = (x=3901.93, 0=123)

1 calExp
= (x=3901.92, 0=123)

1 m——Residual*5
= Trace

1
Y=2947 (dx=-1.7e-02, do=-2.2e-02)
I pfsArm
| ™ (x=3904.43,0=127)
1 1 [ (cf‘f;gpomn, 0=125)

m——Residual*5
== Trace

Y=3930 (dx=-7.3e-02, do=6.9e-02)

T pfsArm
| = (x=391320,0=124)
| calExp

= (x=3913.13, 0=1.31)

m— Residual*5
- == Trace
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f=20, X=3900.1

Y=245 (dx=-8.5e-02, do=2.9e-02) Y=491 (dx=-3.5e-02, do=6.5e-02) Y=736 (dx=-6.1e-02, do=6.0e-02) Y=982 (dx=-6.7e-02, do=-3.2e-02)

T pfsArm T pfsArm T pfsArm
_ I = (x=3904.60, 0=1.40) 1 = (x=3900.16, 0=1.38) 1 = (x=3898.43, 0=1.38)
1 calExp _ 1 calExp 1 calExp
= (x=3904.52, 0=1.42) | ™ (x=3900.10, 0=1.44) T = (x=3898.36, 0=1.35)
== Residual*s L. pfsAm == Residual*s = Residual*s
(x=3902.19, 0=1.38)
= Trace == Trace == Trace
calExp
T - = (x=3902.15, 0=1.44) i | -
b | === Residual*5
|| = Trace
{- -k {- - I:L_}— {- - {- -
T T 1 T T T T T 1 T T U T
Y=1228 (dx=-3.1e-02, do=-2.2e-02) Y=1473 (dx=6.9e-03, do=-2.6e-02) Y=1719 (dx=-3.9e-03, do=1.6e-02) Y=1965 (dx=-4.6e-02, do=-3.4e-02)
g pfsArm pfsArm i pfsA:m I i pfsArm- I
= (x=3897.30, 0=1.36) = (x=3896.42, 0=1.37) = (x=3896.09, 0=1.36) 1 = (x=3895.68, 0=1.39) 1
_ calExp . calExp calExp 1 calExp 1
= (x=3897.27, 0=1.34) = (x=3896.43, 0=1.34) = = (x=3896.08, 0=1.38) — = (x=3895.64, 0=1.36)
e Residual*5 e Residual*5 = Residual*5 = Residual*5

= Trace == Trace w=  Trace

w— Trace

pfsArm pfsArm .
= (x=3896.09, 0=1.36) — e 3896.42, 0=1.34)

. calExp

= (x=3896.12, 0=1.32)

e Residual*5

calExp
m—(x=3896.42, 0=1.28)
e Residual*5

= Trace

'l

pfsArm
= (x=3897.27, 0=1.31)

calExp
= (x=3897.25, 0=1.29)
mm— Residual*5
w Trace

T

pfsArm pfsArm pfsArm
= (x=3901.67, 0=1.37) = (x=3904.23, 0=1.33) == (x=3907.15, 0=1.34)

calExp
== (x=3907.19, 0=1.42)
= === Residual*5
== Trace

calExp calExp
= (x=3901.65, 0=1.36) - = (x=3904.19, 0=1.38)

e Residual*s e Residual*5

= Trace
Y=3684 (dx=-3.9e-02, do=5.1e-02) Y=3930 (dx=3.8e-02, do=8.2e-02)
== Trace = Trace

pfsArm T T
= (x=3899.73, 0=1.38) 1 -1
calExp |
~ == (x=3899.74, 0=1.31)
e Residual*5
- Trace
- ):‘I; -
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Y=245 (dx=-1.0e-01, do=5.6e-02)

f=22, X=3887.6

Y=491 (dx=-1.1e-01, do=2.7e-02)

- T pfsArm pfsArm
1 — (x=3892.14, 0=1.26) | = (x=3889.56,0=1.27)
1 calExp 1 calExp

= (x=3892.04, 0=1.32)
s Residual*5
= Trace

- == Trace

= (x=3889.45, 0=1.29)
m— Residual*s

Y=1228 (dx=-3.9e-02, do=-6.8e-03)

Y=1473 (dx=-2.8e-02, do=-1.2e-04)

m—— Residual*5
- w— Trace

I pfsArm T I pfsArm
| = (x=3884.75,0=1.26) 1 = (x=3883.99, 0=1.25)
1 calExp 1 calExp

= (x=3884.71, 0=1.26) = (x=3883.96, 0=1.25)

m—— Residual*5
= Trace

m—— Residual*5
w— Trace

1 1

Y=2210 (dx=-9.6e-04, do=-1.0e-02) Y=2456 (dx=-6.5e-03, do=-1.4e-02)
I pfsArm I pfsArm
| ™ (x=3883.50, 0=1.24) 1 = (x=3883.98, 0=123)
I [r— ((5I=E3>(8'383.50, 0=1.23) I — ((:I=E3x8ps3 98, 0=1.22)

- == Trace

m— Residual*5

e Residual*5
| Trace

1
Y=3193 (dx=-4.4e-02, do=-6.2e-03) Y=3439 (dx=-1.6e-02, do=1.5e-02)
pfsArm T pfsArm
| = (x=3887.35,0=123) | = (x=3889.25, 0=123)
I r— (CEI:E;BPS7.31, 0=1.22) I — (c:I:EBXSPSQ 23, 0=1.24)

m— Residual*5
= Trace

3880 3890 3900

3880 3890 3900

Y=736 (dx=-1.1e-01, do=2.0e-02)

pfsArm
| = (x=3887.54, 0=1.26)
1 calExp

= (x=3887.43, 0=1.28)
—Residual*s
== Trace

Y=1719 (dx=-1.8e-02, do=8.1e-03)

I fsArm
| ™ (x=3883.50,0=125)
1 calExp

= (x=3883.48, 0=1.26)

m——Residual*5
- == Trace

- w= Trace

Y=2702 (dx=-4.5e-03, do=-1.2e-02)

pfsArm

| = (x=3884.73,0=123)

1 calExp
m—(x=3884.73, 0=1.22)

m——Residual*5
== Trace

Y=3684 (dx=-6.3e-02, do=4.2e-02)

pfsArm
| = (x=3891.58, 0=1.23)
-1 | calExp

= (x=3891.52, 0=127)
m— Residual*s
- Trace

calExp
. = (x=3894.42, 0=1.30)

3880 3890 3900

Y=982 (dx=-7.5e-02, do=6.9e-03)

pfsArm
1 = (x=3885.98, 0=127)

1 calExp
= (x=3885.91, 0=127)

= Residual*5
== Trace

Y=1965 (dx=-2.0e-02, do=-3.2e-03)

pfsArm
| ™ (x=3883.35,0=124)

calExp
= (x=3883.33, 0=124)
m—Residual*5

Y=2947 (dx=-3.6e-02, do=-2.4e-03)

I pfsArm

| = (x=3885.84,0=122)

1 calExp
m—(x=3885.80, 0=1.22)

m——Residual*5
== Trace

Y=3930 (dx=-4.0e-02, do=7.1e-02)

T pfsArm
| ™ (x=3894.46,0=123)

m— Residual*5
== Trace
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Y=245 (dx=-1.3e-01, do=4.2e-02)

f=29, X=3843.9

Y=491 (dx=-9.8e-02, do=1.6e-02)

Y=736 (dx=-9.8e-02, do=1.3e-02)

pfsArm
| ™ (x=384829,0=129)

1 calExp
= (x=3848.17, 0=1.33)

w— Residual*5
= Trace

T pfsArm
| ™ (x=3845.70, 0=1.40)
1 calExp

= (x=3845.60, 0=1.42)

T pfsArm
| ™ (x=384373,0=142)

1 calExp
= (x=3843.63, 0=1.43)

m—— Residual*5
== Trace

Y=1228 (dx=-4.6e-02, do=1.7e-02)

Y=1473 (dx=2.8e-04, do=1.8e-02)

Y=1719 (dx=-2.6e-02, do=2.4e-02)

fsArm
| ™ (x=384123,0=128)
1 calExp

= (x=3841.19, 0=1.30)
w—— Residual*5
= Trace

pfsArm
| ™ (x=3840.41,0=130)
calExp
= (x=3840.41, 0=1.32)
-1 m— Residual*5
= Trace

I pfsArm
1 = (x=3840.03, 0=125)
1 calExp
= (x=3840.00, 0=1.27)
e Residual*5
= Trace

=

Y=2210 (dx=1.6e-03, do=1.7e-02)

Y=2456 (dx=1.9e-04, do=3.1e-03)

Y=2702 (dx=1.5e-02, do=1.6e-03)

pfsArm pfsArm
1 = (x=3840.04, 0=1.24) | ™ (x=3840.42,0=128)
1 calExp 1 calExp
= (x=3840.04, 0=1.26) i = (x=3840.42, 0=1.29)
w— Residual*5 m— Residual*5
- Trace - Trace

=

pfsArm
1 = (x=384121, 0=1.25)
1 calExp

(x=3841.22, 0=1.25)

m——Residual*5
== Trace

pfsArm
| ™ (x=384227,0=126)
1 calExp
- = (x=3842.23, 0=1.26)

Y=3193 (dx=-3.3e-02, do=9.0e-03)

Y=3439 (dx=-2.0e-02, do=1.4e-02)

Y=3684 (dx=-4.9e-02, do=5.3e-02)

pfsArm T pfsArm
| = (x=3843.61,0=134) 1 = (x=3845.48, 0=1.29)
| calExp - | calExp
= (x=3843.58, 0=1.34) = (x=3845.46, 0=1.31)

e Residual*5

T pfsArm
| ™ (x=3847.66,0=1.37)
| calExp

= (x=3847.61, 0=1.43)

m— Residual*5

- == Trace

3830 3840 3850

3830 3840 3850 3860

3840 3850 3860

Y=982 (dx=-7.3e-02, do=2.8e-02)

pfsArm
| ™ (x=3842.34,0=130)
1 calExp
= (x=3842.27, 0=1.33)
— Residual*s
== Trace

Y=1965 (dx=-1.3e-02, do=-1.0e-02)

pfsArm
| ™ (x=3839.71, 0=1.40)

calExp
= (x=3839.69, 0=1.39)
m—Residual*5

== Trace

Y=2947 (dx=-4.5e-02, do=2.8e-03)
T

m——Residual*5

Y=3930 (dx=-7.2e-03, do=3.9e-02)

pfsArm
| = (x=3850.51, 0=1.30)

calExp
= (x=3850.50, 0=1.34)
m—Residual*5

1
3840 3850 3860
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Y=245 (dx=-5.8e-02, do=4.6e-02)

f=33, X=3819.0

Y=491 (dx=-1.7e-02, do=1.1e-02)

pfsArm
| =™ (x=382328,0=124)

calExp
= (x=3823.22, 0=1.28)
m— Residual*s

T pfsArm
| ™ (x=3820.80, 0=127)

1 calExp
= (x=3820.78, 0=1.28)

m— Residual*5
== Trace

Y=736 (dx=7.0e-03, do=3.3e-03)

pfsArm
1 = (x=3818.96, 0=124)
1 calExp

= (x=3818.97, 0=125)
—Residual*s
== Trace

1 1
Y=1228 (dx=2.2e-02, do=2.6e-02) Y=1473 (dx=7.2e-02, do=-5.6e-03)
pfsArm I fsArm
| = (x=3816.35,0=124) | ™ (x=3815.56, 0=125)
I r— (C;LEBXBPIG.BI 0=1.27) I — (C:I=E3XB,\’15‘63, 0=1.25)

m—— Residual*5

m—— Residual*5
= Trace

Y=2210 (dx=7.0e-02, do=-1.9e-03)

1
Y=2456 (dx=7.9e-02, do=-4.0e-03)

1
Y=1719 (dx=7.8e-02, do=7.9e-03)
1 = F:s:Art;‘ls.la, 0=123)

calExp
= (x=3815.24, 0=1.23)
e Residual*5

== Trace

pfsArm ! pfsArm
| ™ (x=3815.17,0=122) | ™ (x=3815.57,0=124)
1 calExp 1 calExp
= (x=381524, 0=1.22) = (x=3815.65, 0=123)

m—— Residual*5

m— Residual*5
= Trace

1
Y=2702 (dx=6.6e-02, do=-1.2e-02)

1
Y=3193 (dx=4.7e-02, do=-1.3e-03)

Y=3439 (dx=4.1e-02, do=8.5e-03)

I pfsArm

1 = (x=3816.33, 0=1.23)

1 calExp
m—(x=3816.39, 0=121)

m——Residual*5

T pfsArm
| = (x=3818.73,0=124)

| calExp

= (x=3818.78, 0=1.24)
w— Residual*5
= Trace

pfsArm
| ™ (x=3820.54,0=123)

| calExp

= (x=3820.58, 0=1.24)
m— Residual*s
- Trace

Y=3684 (dx=9.9e-03, do=4.4e-02)

pfsArm
| = (x=382271,0=127)

| calExp
= (x=3822.72, 0=1.31)
m— Residual*5
= Trace
— o

3810 3820 3830

3810 3820 3830

3810 3820 3830

Y=982 (dx=1.0e-02, do=1.0e-02)

T pfsArm
| ™ (x=3817.44, 0=125)

1 calExp
= (x=3817.45, 0=1.26)

= Residual*5
== Trace

Y=1965 (dx=6.3e-02, do=6.6e-03)

-1 I pfsArm
1 = (x=3815.03, 0=122)

1 calExp
= (x=3815.09, 0=1.23)

m——Residual*5
= Trace

Y=2947 (dx=8.5e-02, do=-1.6e-02)

I pfsArm
| = (x=3817.37,0=123)
1 calExp

= (x=3817.46, 0=1.21)

- e Residual*5
== Trace

Y=3930 (dx=-7.9e-03, do=1.1e-01)

pfsArm
| = (x=3825.47,0=123)

calExp
= (x=3825.46, 0=1.35)
m—Residual*5
- Trace

3810 3820 3830 3840
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Y=245 (dx=-4.3e-02, do=2.8e-02)

f=46, X=3738.2

Y=491 (dx=-4.1e-02, do=3.4e-02)

Y=736 (dx=-1.0e-02, do=1.4e-02)

T pfsArm
1 = (x=3742.08, 0=123)
1 calExp

= (x=3742.04, 0=1.26)

w— Residual*5
= Trace

T pfsArm
| ™ (x=3739.80,0=123)
1 calExp
= (x=3739.76, 0=127)
m— Residual*s
== Trace

pfsArm
1 = (x=3738.06, 0=123)
1 calExp

= (x=3738.05, 0=1.24)
—Residual*s
== Trace

1 |
Y=1228 (dx=1.6e-02, do=1.5e-02) Y=1473 (dx=2.3e-02, do=1.0e-02)
pfsArm I pfsArm
| = (x=3735.64, 0=122) 1 = (x=3734.97, 0=122)
I r— (C;LEBX;BS.GG, 0=1.24) I — (C:I=E3X7PB4‘99, 0=1.23)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

1

Y=1719 (dx=3.1e-02, do=5.3e-03)
T
| F:s:Ar7m34.55, 0=122)
1 — (cffs)%msa, 0=122)

m——Residual*5
= Trace

1 1 1

Y=2210 (dx=5.3e-02, do=-8.1e-03) Y=2456 (dx=5.7e-02, do=-2.6e-02) Y=2702 (dx=4.6e-02, do=-2.4e-02)
I pfsArm I pfsArm I pfsArm
| = (x=373456,0=121) 1 = (x=3734.99, 0=120) | = (x=3735.64,0=121)
l — ((537'334.51, 0=1.20) 1 [ ((:LE;%s 04, 0=1.17) I — (CSLE;;BS.GS, 0=1.19)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

m——Residual*5
== Trace

Y=3193 (dx=3.3e-02, do=-5.5e-04) Y=3439 (dx=4.8e-02, do=8.7e-03)
T pfsArm pfsArm
1 = (x=3737.93, 0=1.20) | = (x=3739.56, 0=121)
I r— ;:EI:E;7’)37.97, 0=1.20) I — (c:I:EBX7p39 61, 0=1.22)

e Residual*5
| Trace

m— Residual*5
= Trace

1

Y=3684 (dx=4.8e-02, do=1.9e-02)
T pfsArm
| = (x=3741.60, 0=1.23)

calExp
= (x=3741.65, 0=125)
m—Residual*5
- Trace

3730 3740 3750

3730 3740 3750

3730 3740 3750

Y=982 (dx=-1.3e-02, do=1.7e-02)

T T pfsArm
| ™ (x=3736.66, 0=123)

1 calExp
= (x=3736.65, 0=1.24)

= Residual*5
== Trace

1
Y=1965 (dx=5.2e-02, do=9.6e-03)
-1 I pfsArm
| =™ (x=3734.42,0=121)
| — (Cffzx%uro:l‘zm

m——Residual*5
= Trace

Y=2947 (dx=4.7e-02, do=-1.6e-02)

pfsArm
| ™ (x=3736.60, 0=121)
1 calExp
. = (x=3736.65, 0=120)

m——Residual*5
== Trace

Y=3930 (dx=3.0e-02, do=9.1e-02)

pfsArm
| = (x=3744.17,0=121)

| calExp

= (x=3744.20, 0=1.30)
m—Residual*5
- Trace

3730 3740 3750 3760
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Y=245 (dx=1.2e-02, do=2.3e-02)

f=48, X=3725.7

Y=491 (dx=-1.9e-02, do=9.8e-03)

pfsArm T
| = (x=3729.56, 0=1.32) 1

calExp

= (x=3729.57, 0=1.35)
= Residual*5

= Trace

L

pfsArm
= (x=3727.40, 0=1.29)
calExp
= (x=3727.38, 0=1.30)
w—— Residual*5
w= | Trace

pfsArm
= (x=3723.29, 0=1.27)

calExp

= (x=3723.31, 0=127)
m—— Residual*5

= | Trace

pfsArm
= (x=3722.54, 0=1.30)

calExp
— (x=3722.62, 0=1.28)

m—— Residual*5

w— Trace

I.I

pfsArm
= (x=372221, 0=1.25)

15

calEx
m—(x=3722.30, 0=1.22)
m—— Residual*5
= Trace

1 1

Y=2210 (dx=7.9e-02, do=-1.9e-02) Y=2456 (dx=1.1e-01, do=-4.6€-02)
pfsArm I pfsArm I
- = (x=372222, 0=1.24) 1 T = (x=3722.57, 0=1.27) 1

calEx

= (x=3722.67, 0=1.23)
w—— Residual*5

- Trace

Y=3193 (dx=5.7e-02, do=-5.4e-03)

pfsArm T
= (x=3725.49, 0=1.26)

calExp

(x=3725.55, 0=1.25)
mm= Residual*5
= Trace

= == Trace

pfsArm
— (x=3727.18, 0=1.23)

calExp
= (x=3727.25,0=1.22)

m—— Residual*5

Y=736 (dx=6.6e-03, do=-8.8e-03)

pfsArm T

== (x=3725.58, 0=1.33)
calExp

= (x=3725.58, 0=1.32)

m— Residual*s

== Trace

Y=982 (dx=-8.2e-03, do=-1.1e-02)

pfsArm
= (x=3724.29, 0=1.28)

calExp

= (x=3724.29, 0=1.27)
m— Residual*s

== Trace

calExp
= (x=3722.25, 0=1.23)
m— Residual*5

= Trace

1

Y=1965 (dx=8.4e-02, do=-1.3e-02)
— ;
i ?;i}ggz 09, 0=123) 1

calExp

- (x=3722.17,0=122)
m—— Residual*5

== Trace

pfsArm
= (x=372329, 0=1.24) 1

calExp
= (x=3723.35, 0=1.21)

m—— Residual*5
= Trace

Y=2947 (dx=5.4e-02, do=-3.2e-02)

pfsArm

— (x=3729.22, 0=1.24)
calExp

= (x=3729.27, 0=125)

m— Residual*s

- Trace

3710 3720 3730 3740

3720 3730 3740

pfsArm I
= (x=372425, 0=124) 1
calExj

(x=3724.31, 0=1.21)
m—— Residual*5
w Trace

pfsArm
| == (x=3731.65, 0=128)

calExp
= (x=3731.67, 0=1.35)
m—— Residual*5
= Trace

3720 3730 3740

3720 3730 3740
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Y=245 (dx=-9.6e-03, do=6.0e-03)

f=49, X=3719.5

Y=491 (dx=8.4e-03, do=-1.2e-02)

pfsArm
| ™ (x=3723.11, 0=1.59)

calExp

_(x= 3723 10, 0=1.59)
m— Residual*s

= Trace

!

T pfsArm
1 = (x=3721.07, 0=1.50)

calExp
- (x= 3721 08, 0=1.49)

wem Residual*5
== Trace

Y=1473 (dx=1.9e-02, do=-1.6e-02)

Y=736 (dx=3.1e-02, do=-1.4e-02)

pfsArm
| ™ x=3719.10,0=162)

calExp
- x= 3719 13, 0=1.60)

wmm Residual*s

pfsArm

1 == (x=3717.03, 0=1.48)
calExp

= (x=3717.09, 0=1.46)

e Residual*5
- Trace

T

T
1

I pfsArm
| = (x=3716.09, 0=1.59)
calExp
= (x=3716.11, 0=1.58)
e Residual*5
- Trace

Y=1719 (dx=3.9e-03, do=-3.9e-02)

Y 2210 dx 1.9e- 02 do=-5.0e- 02)

Y=2456 (dx=6.4e-02, do=-3.5€-02)

]

pfsArm

=== (x=3716.00, 0=1.46)
calExp

= (x=3716.01, 0=1.43)

e Residual*s

pfsArm
== (x=3716.02, 0=1.45)

calExp

(x=3716.04, 0=1.40)
e Residual*5
= Trace

pfsArm
| = (x=3716.12, 0=1.58)

calExp
(x=3716.18, 0=1.54)

e Residual*5

= Trace

pfsArm
=== (x=3717.05, 0=1.46)

calExp
= (x=3717.13, 0=1.38)
e Residual*5
= Trace

pfsArm
| = (x=3719.13,0=152)

calExp
= (x=3719.23, 0=1.45)
= Residual*5
= Trace

pfsArm
= (x=3720.99, 0=1.46)

calExp
= (x=3721.01, 0=1.44)
e Residual*5
w  Trace

Y=3684 (dx=3.5e-02, do=5.2e-04)

pfsArm
= (x=3723.01, 0=1.41)

calExp
= (x=3723.05, 0=1.41)
e Residual*5
= Trace

3710 3720 3730

3710 3720 3730

i

3710 3720 3730

Y=982 (dx=9.4e-03, do=-2.8e-02)

calExp
== (x=3718.03, 0=1.46)

wmm_ Residual*5
== Trace

L

pfsArm
1 = (x=3718.02, 0=1.49)

— fsArm
1 (x 3715.01, 0=1.91)

calExp
= (x=3714.98, 0=1.93)
7| === Residual*5

T pfsArm
1 = (x=3718.03, 0=1.44)
1 calExp
. = (x=3718.05, 0=1.37)
e Residual*5
- Trace

Y=3930 (dx=-1.3e-01, do=1.7e-01)

rh

pfsArm
== (x=3725.20, 0=1.55)

calExp
= (x=3725.06, 0=1.72)

me—Residual*5

= Trace
quf

3710 3720 3730 3740
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Y=245 (dx=-5.7e-02, do=2.1e-02)

f=50, X=3713.2

Y=491 (dx=-4.9e-02, do=-1.7e-04)

T pfsArm
1 = (x=3717.11, 0=125)
1 calExp

= (x=3717.06, 0=1.28)

w— Residual*5
= Trace

T pfsArm
| ™ (x=3714.77,0=1.36)

1 calExp
= (x=3714.73, 0=1.36)

m— Residual*5

Y=736 (dx=-2.1e-02, do=-7.4e-04)

Y=1228 (dx=-7.9e-03, do=1.2e-04)

Y=1473 (dx=3.4e-02, do=-1.1e-02)

pfsArm
1 = (x=3713.17, 0=1.26)
1 calExp

= (x=3713.15, 0=1.26)
—Residual*s
= Trace

I pfsArm I pfsArm
| ™ (x=371071,0=1.35) 1 = (x=3710.15, 0=1.25)
1 calExp 1 calExp

= (x=3710.70, 0=1.35) = (x=3710.18, 0=1.24)

m—— Residual*5
= Trace

m—— Residual*5

Y=1719 (dx=1.8e-02, do=1.8e-03)

I pfsArm
| =™ (x=3709.65, 0=1.33)
1 calExp

= (x=3709.67, 0=1.33)

m——Residual*5
= Trace

1
Y=2210 (dx=5.3e-02, do=4.3e-03) Y=2456 (dx=5.6e-02, do=-3.7e-02)
pfsArm B ! pfsArm
| = (x=3709.66, 0=1.33) 1 = (x=3710.17, 0=124)
1 calExp 1 calExp

(x=3709.71, 0=1.34)
m—— Residual*5
== | Trace

(x=3710.22, 0=1.20)
m— Residual*5

Y=2702 (dx=3.4e-02, do=-1.1e-02)

Y=3193 (dx=1.4e-02, do=-3.0e-02)

Y=3439 (dx=2.8e-02, do=-1.3e-02)

I pfsArm
| ™ (x=3710.69, 0=1.36)
1 calExp

= (x=3710.73, 0=1.35)

m——Residual*5

T pfsArm
1 = (x=3713.06, 0=123)

| calExp

(x=3713.07, 0=1.20)
e Residual*5
== | Trace

pfsArm
| ™ (x=3714.57,0=131)

calExp
= (x=3714.60, 0=1.30)
m— Residual*s
= Trace

Y=3684 (dx=1.0e-02, do=2.4e-02)

pfsArm T
= (x=3716.58, 0=131) 1

calExp |
= (x=3716.59, 0=1.34)

m—— Residual*5
== Trace

3700 3710 3720

3700 3710 3720

3730 3700 3710 3720 3730

Y=982 (dx=-4.7e-03, do=-1.1e-02)

T pfsArm
| = x=371171,0=135)

1 calExp
= (x=371171, 0=1.34)

= Residual*5
== Trace

Y=1965 (dx=3.7e-02, do=9.2e-04)

pfsArm
| ™ (x=3709.56, 0=1.30)

1 calExp
= (x=3709.59, 0=1.30)

m—Residual*5

== Trace

Y=2947 (dx=4.4e-02, do=-2.4e-02)

I pfsArm
| ™ (x=3711.65,0=1.35)
1 calExp

(x=3711.70, 0=1.32)

m——Residual*5
== Trace

Y=3930 (dx=8.1e-03, do=7.5e-02)

T pfsArm
1 = (x=3719.16, 0=1.24)

calExp
= (x=3719.17, 0=1.32)
m—Residual*5

3710 3720 3730
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Y=245 (dx=-2.7e-02, do=3.4e-02)

f=51, X=3707.0

Y=491 (dx=-2.8e-02, do=9.7e-03)

-1 pfsArm
(x=3710.83, 0=1.31)

== Trace

calExp
= (x=3710.80, 0=1.35)
m— Residual*s

’

pfsArm
= (x=3708.68, 0=1.30) 1
calExp
- = 3703 65, 0=1.31)
s Residual*5
w | Trace

Y=736 (dx=1.0e-02, do=-3.6e-03)

pfsArm
= (x=3707.11, 0=1.35)
calExp
_ = 3707 12, 0=1.35)
m— Residual*s
== Trace

A

p
- = (x=3705.63, 0=1.30) 1

i Trace

calExp
= (x=3704.70, 0=127)
e Residual*5

Al

I
Y=1228 (dx=6.2€-02, do=-2.5e-02) Y=1473 (dx=5.1e-02, do=-3.5¢-02)
pfsArm I - pfsArm I
= (x=3704.64, 0=1.29) 1 = (x=3704.09, 0=1.32) 1

calExp
= (x=3704.14, 0=1.29)
w— Residual*5

= Trace

Y=1719 (dx 6.5e- 02 do=-2.4e- 02

pfsArm T
o = (x=3703.59, 0=1.28) 1
calExp
= (x=3703.65, 0=1.25)
m— Residual*5
== Trace

7| = (x=3703.49, 0=1.26) 1

calEx|

= Trace

pfsArm
= (x=3703.60, 0=1.27)

P
= (x=3703.67, 0=1.25)
m—— Residual*5

pfsArm
= (x=3704.09, 0=129) 1

calExp
(x=3704.15, 0=1.25)

m— Residual*5

w— Trace

Y=2702 (dx= 1.1le- 01, do=-3.8e- 02)

pfsArm
= (x=3704.64, 0=1.27)

calExp
(x=3704.75, 0=1.23)

m—— Residual*5

= Trace

= Trace

pfsArm
= (x=3706.82, 0=127)

calExp
= (x=3706.85, 0=1.27)
m— Residual*s

AL

pfsArm
= (x=3708.48, 0=125) 1

calExp

(x=3708.53, 0=1.23)
m— Residual*5
| Trace

Y=982 (dx=2.9e-03, do=-1.6e-02)

fsArm T

calExp
_(x= 3705 63, 0=1.28)

m— Residual*5
== Trace

pfsArm

calExp
= (x=3703.55, 0=1.24)
m— Residual*s

== Trace

Y=2947 (dx=6.5e-02, do=-4.8e-02)

pfsArm
= (x=3705.58, 0=127)

calExp
= (x=3705.65, 0=1.22)
m— Residual*5

- Trace

pfsArm
= (x=3710.48, 0=1.26)

calExp

(x=3710.52, 0=1.29)
m—— Residual*5
= Trace

3690

3700

3710

3720

3710 3720

pfsArm
= (x=3712.88, 0=127) 1

calExp

(x=3712.92, 0=1.33)
m— Residual*5
= Trace

3700 3710 3720

3700 3710 3720
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Y=245 (dx=-5.4e-02, do=3.5e-02)

f=57, X=3669.7

Y=491 (dx=-3.5e-02, do=2.3e-02)

pfsArm
| ™ (x=3673.40, 0=123)

1 calExp
= (x=3673.34, 0=1.27)
s Residual*5
= Trace

pfsArm
| ™ (x=367129,0=123)

1 calExp
= (x=3671.26, 0=125)

m— Residual*5
== Trace

Y=736 (dx=-7.2e-03, do=1.3e-02)

Y=1228 (dx=3.4e-02, do=-2.7e-03)

Y=1473 (dx=3.4e-02, do=6.1e-04)

T pfsArm
| ™ (x=3669.61,0=123)

1 calExp
= (x=3669.60, 0=1.24)

m—— Residual*5
== Trace

pfsArm I pfsArm
1 = (x=3667.37, 0=1.23) | ™ (x=3666.70, 0=1.23)
1 calExp 1 calExp
— (x=3667.41, 0=1.23) = (x=3666.74, 0=1.23)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

1

Y=1719 (dx=3.9e-02, do=4.7e-03)
I fsArm
| ™ (x=3666.35 0=122)
| — (cffsxgse‘zg, 0=122)

m——Residual*5
= Trace

Y=982 (dx=>5.3e-04, do=5.8e-03)

pfsArm
| ™ (x=3668.33,0=123)

calExp
= (x=3668.33, 0=1.24)
— Residual*s
== Trace

Y=1965 (dx=8.3e-02, do=-2.2€-03)

pfsArm
_ 1 —(x=3666.24, 0=1.22)

1 calExp
= (x=3666.32, 0=121)

m—Residual*5

== Trace

1 1

Y=2210 (dx=7.4e-02, do=-3.9¢-03) Y=2456 (dx=7.5e-02, do=-1.7e-02)
I pfsArm I pfsArm
1 — (x=3666.37, 0=1.21) | = (x=3666.71,0=123)
I r— (cfgges.u, 0=1.21) I r— ((:LE;gse 79, 0=1.21)

m—— Residual*5
w— Trace

m— Residual*5

Y=2702 (dx=5.4e-02, do=-6.0e-03)

I pfsArm

| ™ (x=3667.38,0=121)

1 calExp
m—(x=3667.44, 0=121)

m——Residual*5

Y=3193 (dx=5.9e-02, do=-7.6e-03)

Y=3439 (dx=5.3e-02, do=2.9e-02)

pfsArm
I ™ (x=3669.50, 0=121)

calExp

(x=3669.56, 0=1.20)
e Residual*5
| Trace

T pfsArm
1 = (x=3671.07, 0=121)

| calExp

= (x=3671.13, 0=124)
m— Residual*s
- Trace

Y=3684 (dx=1.4e-02, do=6.0e-02)

T pfsArm
1 = (x=3673.02, 0=121)

| calExp

= (x=3673.03, 0=1.27)
m— Residual*5

= Trace

3660 3670 3680

3660 3670 3680

3660 3670 3680

Y=2947 (dx=4.8e-02, do=-7.7e-03)

pfsArm
| ™ (x=366829,0=1.22)
1 calExp

= (x=3668.34, 0=1.21)

e Residual*5

- Trace

Y=3930 (dx=4.5e-02, do=9.5e-02)

pfsArm
| = (x=3675.39, 0=1.22)

calExp
= (x=3675.43, 0=1.31)
m—Residual*5

3660 3670 3680 3690
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Y=245 (dx=-6.4e-02, do=5.6e-02)

f=61, X=3644.9

Y=491 (dx=-5.9e-02, do=5.5e-02)

pfsArm
| ™ (x=3648.51, 0=122)

1 calExp
= (x=3648.45, 0=1.28)

w— Residual*5
= Trace

pfsArm
| ™ (x=3646.45 0=122)

1 calExp
= (x=3646.39, 0=1.28)

m— Residual*5

Y=1228 (dx=6.1e-03, do=2.0e-02)

Y=1473 (dx=1.3e-02, do=8.2e-03)

m—— Residual*5
= Trace

T I pfsArm I pfsArm
| = (x=3642.63,0=1.22) 1 = (x=3642.03, 0=1.22)

1 calExp 1 calExp
— (x=3642.63, 0=1.24) = (x=3642.05, 0=1.23)

m—— Residual*5
= Trace

(x=3641.72, 0=1.19)
m—— Residual*5
w— Trace

1 1

Y=2210 (dx=6.6e-02, do=-1.3e-02) Y=2456 (dx=4.3e-02, do=-1.4e-02)
I pfsArm I pfsArm
| ™ (x=364165, 0=120) I ™ (x=3642.06, 0=121)
1 calExp 1 calExp

(x=3642.10, 0=1.20)
m— Residual*5

e Residual*5
| Trace

1

Y=3193 (dx=1.4e-02, do=1.6e-02) Y=3439 (dx=3.4e-02, do=-4.0e-03)
T pfsArm pfsArm
| = (x=3644.71, 0=120) | ™ (x=364626, 0=121)
I r— ;:EI:E;S44.7Z, 0=1.22) I — (c:I:EBXngG 29, 0=1.20)

m— Residual*5

3630 3640 3650

3660 3630 3640 3650 3660

Y=736 (dx=-4.2e-02, do=3.4e-02)

T pfsArm
| ™ (x=3644.81,0=121)

1 calExp
= (x=3644.76, 0=1.25)

m—— Residual*5

Y=982 (dx=-1.6e-02, do=3.2e-02)

1
Y=1719 (dx=1.2e-03, do=6.9e-04)

pfsArm
| ™ (x=3643.56, 0=122)

1 calExp
= (x=3643.55, 0=1.25)

= Residual*5
== Trace

pfsArm
| ™ (x=3641.63 0=121)

1 calExp
= (x=3641.63, 0=121)

e Residual*5

== Trace

Y=1965 (dx=3.0e-02, do=4.0e-03)

pfsArm
| ™ (x=3641.53,0=121)

calExp
= (x=3641.56, 0=121)
m—Residual*5

1
Y=2702 (dx=3.3e-01, do=1.4e-01)
pfsArm I
= (x=3642.64, 0=120) 1
calExp

m—(x=3642.97, 0=1.34)
m—— Residual*5
= Trace

Y=2947 (dx=5.5e-02, do=-1.2e-02)

pfsArm

| ™ (x=3643.52,0=121)
1 calExp
= (x=3643.58, 0=1.20)

m——Residual*5

Y=3684 (dx=4.6e-02, do=5.2e-02) Y=3930 (dx=4.9e-02, do=9.3e-02)
T pfsArm pfsArm
1 = (x=3648.16, 0=121) | ™ (x=365047, 0=121)

calExp
= (x=3648.21, 0=1.26)
m—Residual*5
- Trace

3640 3650 3660

calExp
= (x=3650.52, 0=1.30)
m—Residual*5

3640 3650 3660
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Y=245 (dx=-4.7e-02, do=4.4e-02)

f=72, X=3576.8

Y=491 (dx=-1.7e-02, do=2.9e-02)

T pfsArm
1 = (x=3580.07, 0=123)

1 calExp
= (x=3580.03, 0=127)

w— Residual*5
= Trace

T pfsArm
| ™ (x=3578.14,0=123)
1 calExp
= (x=3578.12, 0=1.26)
m— Residual*s
== Trace

Y=736 (dx=-4.4e-02, do=1.9e-02)

Y=1228 (dx=2.4e-02, do=1.8e-02)

Y=1473 (dx=2.6e-02, do=1.4e-02)

T pfsArm
| ™ (x=3576.59, 0=123)

1 calExp
= (x=3576.54, 0=1.25)

m—— Residual*5
== Trace

Y=982 (dx=1.9e-04, do=2.2e-02)

I pfsArm I pfsArm
| = (x=3574555,0=123) 1 = (x=3574.00, 0=1.22)
1 calExp 1 calExp

= (x=3574.57, 0=1.25) = (x=3574.02, 0=123)

m—— Residual*5
= Trace

m—— Residual*5

Y=1719 (dx=1.9e-02, do=1.2e-02)

T pfsArm
| = (x=3575.42,0=123)

1 calExp
= (x=3575.42, 0=1.25)

= Residual*5

1
Y=2210 (dx=4.4e-02, do=-1.6e-02)

Y=2456 (dx=6.4e-02, do=-2.9e-02)

I pfsArm
| =™ (x=3573.62,0=123)
1 calExp

= (x=3573.64, 0=1.24)

m——Residual*5
= Trace

Y=1965 (dx=4.7e-02, do=1.0e-02)

pfsArm
| ™ (x=3573.53,0=122)

1 calExp
= (x=3573.58, 0=1.23)
m—Residual*5
== Trace

I pfsArm I pfsArm
| = (x=3573.65 0=1.22) 1 = (x=3574.03, 0=121)
1 calExp 1 calExp

m—(x=3573.69, 0=1.20)
w— Residual*5
- Trace

(x=3574.09, 0=1.18)
m— Residual*5
= Trace

1

Y=2702 (dx=6.7e-02, do=-1.9e-02)
I pfsArm
| ™ (x=3574.57,0=121)
1 calExp

(x=3574.64, 0=1.19)
m——Residual*5
= Trace

1 1
Y=3193 (dx=4.3e-02, do=-1.7e-02) Y=3439 (dx=4.6e-02, do=3.0e-03)
pfsArm T pfsArm
| = (x=3576.50, 0=121) 1 — (x=3577.96, 0=1.20)
I r— (CEI:E;SP76.54, 0=1.19) I — (c:I:EBX5p78 01, 0=1.20)

e Residual*5
| Trace

m— Residual*5
= Trace

1
Y=3684 (dx=5.2e-02, do=1.5e-02)

1

Y=2947 (dx=6.0e-02, do=-1.3e-02)
I pfsArm
| ™ (x=3575.40,0=121)
1 calExp

= (x=3575.46, 0=1.20)
e Residual*5

pfsArm
| = (x=3579.69, 0=122)
| calExp
= (x=3579.74, 0=123)

m— Residual*5
== Trace

3560 3570 3580 3590

3570 3580 3590

Y=3930 (dx=6.6e-02, do=6.8e-02)

T pfsArm
1 = (x=3581.94, 0=1.20)

| calExp

(x=3582.00, 0=1.27)
m— Residual*5
== Trace

3570 3580 3590

3570 3580 3590
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Y=245 (dx=6.8e-02, do=5.2e-02)

f=189, X=2853.2

Y=491 (dx=3.0e-02, do=3.2e-02)

T pfsArm
| ™ (x=2854.53,0=1.15)

1 calExp
= (x=2854.60, 0=1.21)

e Residual*s
= Trace

T pfsArm
| ™ (x=2853.68 0=1.16)

1 calExp
= (x=2853.71, 0=1.19)

e Residual*5
== Trace

1 1

Y=1228 (dx=6.4e-02, do=2.4e-03) Y=1473 (dx=8.2e-02, do=3.6e-03)
I fsArm I pfsArm
| = (x=2852.24, 0=1.15) 1 = (x=2852.03, 0=1.15)
I r— (C;LEZXBPSZ.BD, 0=1.15) I — (C:LE;S,JEZ‘II, 0=1.15)

e Residual*5
= Trace

e Residual*5
= Trace

Y=2210 (dx=1.1e-01, do=-1.0e-02)

Y=2456 (dx=1.1e-01, do=-5.1e-03)

I pfsArm I pfsArm

| ™ (x=2851.88,0=1.14) 1 = (x=2852.04, 0=1.15)

1 calExp 1 calExp
m—(x=2851.98, 0=1.13) m—(x=2852.15, 0=1.14)

e Residual*5
w— Trace

e Residual*5
= Trace

1
Y=3193 (dx=1.2e-01, do=-9.0e-03) Y=3439 (dx=7.5e-02, do=-1.3e-02)
T pfsArm T pfsArm
1 = (x=2853.02, 0=1.15) | = (x=2853.59, 0=1.15)
I r— (CEI:EZXBPS3.14, 0=1.14) — (c:I:EZXSPS3 66, 0=1.13)

e Residual*5
| Trace

e Residual*5
= Trace

2840 2850 2860

2840 2850 2860

Y=736 (dx=6.4e-02, do=1.1e-02)

Y=982 (dx=4.2e-02, do=5.3e-03)

pfsArm
1 = (x=2853.07, 0=1.15)
1 calExp

= (x=2853.13, 0=1.17)
m— Residual*s
== Trace

T pfsArm
| ™ (x=2852.57,0=1.16)

calExp
= (x=2852.61, 0=1.16)

e Residual*5
== Trace

Y=1719 (dx=1.0e-01, do=-6.4e-03)

Y=1965 (dx=1.1e-01, do=-1.7e-02)

fsArm

N | ™ (x=285186,0=115)

calExp
= (x=2851.97, 0=1.14)
= Residual*5

== Trace

I fsArm
| ™ (x=2851.83,0=1.14)
1 calExp
= (x=2851.94, 0=1.13)
e Residual*5
= Trace

Y=2702 (dx=8.7e-02, do=-1.8e-02)

pfsArm

_ 1 = (x=2852.25, 0=1.15)

1 calExp
m—(x=2852.34, 0=1.13)
e Residual*s
= Trace

1

Y=2947 (dx=9.6e-02, do=-2.4e-02)
I pfsArm
| = (x=2852.55,0=1.15)
1 calExp

m—(x=2852.65, 0=1.12)
e Residual*5
== Trace

Y=3684 (dx=6.6e-02, do=1.3e-02)

Y=3930 (dx=2.0e-02, do=5.9e-02)

pfsArm
| ™ (x=2854.38,0=114)

| calExp

= (x=2854.44, 0=1.16)
= Residual*5
- Trace

pfsArm
| = (x=2855.37,0=1.15)

| calExp

(x=2855.39, 0=1.20)
e Residual*5
== Trace
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Y=245 (dx=2.0e-02, do=9.8e-03)

f=195, X=2816.1

Y=491 (dx=-2.4e-02, do=2.0e-02)

T pfsArm
| ™ (x=2817.43,0=1.15)

- 1 calExp
= (x=2817.44, 0=1.16)

e Residual*s
= Trace

pfsArm
| ™ (x=2816.61, 0=1.16)
1 calExp
= (x=2816.59, 0=1.18)
m— Residual*s
== Trace

Y=1228 (dx=5.6e-02, do=1.9e-02)

Y=1473 (dx=5.1e-02, do=1.5e-02)

T fsArm T pfsArm
1 = (x=2815.25, 0=1.15) 1 = (x=2815.05, 0=1.14)
T 1 calExp calExp
= (x=2815.31, 0=1.17) = (x=2815.10, 0=1.16)
= Residual*5 = Residual*5
= Trace = Trace

Y=2210 (dx=1.2e-01, do=1.7e-02)

1
Y=2456 (dx=6.7e-02, do=-9.1e-03)

T pfsArm I pfsArm
| ™ (x=2814.89,0=117) 1 = (x=2815.06, 0=1.14)

1 calExp 1 calExp
= (x=2815.01, 0=1.19) = (x=2815.13, 0=1.13)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=3193 (dx=5.3e-02, do=-2.0e-02)

Y=3439 (dx=3.7e-02, do=3.5e-02)

B T pfsArm
| ™ x=2815.93,0=118)

| calExp

(x=2815.98, 0=1.15)
e Residual*5
| Trace

pfsArm
| ™ (x=2816.52,0=115)

| calExp

(x=2816.56, 0=1.18)
e Residual*5
= Trace

Y=736 (dx=4.7e-02, do=-3.7e-03)

pfsArm
1 = (x=2816.04, 0=1.15)

calExp
= (x=2816.09, 0=1.14)
m— Residual*s
== Trace

Y=982 (dx=3.4e-02, do=3.3e-03)

Y=1719 (dx=7.8e-02, do=3.8e-02)

T pfsArm
| ™ (x=2815.56, 0=1.16)

1 calExp
= (x=2815.59, 0=1.16)

e Residual*5
== Trace

I fsArm
| = (x=2814.88,0=1.17)
1 calExp

= (x=2814.96, 0=1.21)

e Residual*5
= Trace

Y=1965 (dx=4.9e-02, do=2.6e-02)

pfsArm
| = (x=2814.85,0=1.17)

1 calExp
= (x=2814.90, 0=1.19)

e Residual*5

== Trace

Y=2702 (dx=1.0e-01, do=-1.7e-02)

pfsArm

1 = (x=2815.26, 0=1.15)
1 calExp
= (x=2815.36, 0=1.13)

e Residual*s
== Trace

1
Y=2947 (dx=7.9e-02, do=-2.9e-02)

1
Y=3684 (dx=7.2e-02, do=9.1e-03)

I pfsArm
| ™ (x=281554,0=115)
1 calExp

m—(x=2815.62, 0=1.12)
e Residual*5
== Trace

pfsArm
1 = (x=2817.27, 0=1.14)

| calExp

= (x=2817.34, 0=1.15)
= Residual*5
- Trace

2800 2810 2820

2830 2800 2810 2820 2830

Y=3930 (dx=1.3e-02, do=8.5e-02)

T pfsArm
1 = (x=2818.22, 0=1.15)

calExp
= (x=2818.23, 0=1.23)
m—Residual*s

2810 2820 2830

2810 2820 2830
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Y=245 (dx=-9.9e-03, do=9.6e-02)

f=215, X=2692.8

Y=491 (dx=1.0e-01, do=4.2e-02)

T pfsArm
| ™ (x=2692.77, 0=1.99)
| calExp

_ = 2692 76, 0=2.08)
I Resiquars
= Trace

L ‘ T pfsArm
| ™ (x=2693.01, 0=145)
1 calExp
= (x=2693.11, 0=1.49)
m— Residual*s
== Trace

Y=736 (dx=-1.2e-01, do=4.0e-03)

Y=1228 (dx= 1.8e- 02, do=-4.5e- 03)

Y=1473 (dx=-5.4e-02, do=8.9e-02)

pfsArm
= (x=2691.86, 0=1.87)
calExp
= (x=2691.75, 0=1.87)
e Residual*5
== Trace

I4

T T ==
1

I pfsArm pfsArm
1 = (x=2692.05, 0=1.29) | = (x=2691.30,0=178)
1 calExp 1 calExp
= (x=2692.07, 0=1.28) = (x=2691.24, 0=1.87)
= Residual*5 = Residual*5
= Trace = Trace
]

I
Y=1719 (dx=-1.6e-02, do=1.1e-01)

Y=2210 (dx=6.6e-02, do=6.4e-02)

Y=2456 (dx=-4. Ze- 02, do= 8.9e- 02)

pfsArm
| = (x=269124,0=174)
calExp
= (x=2691.23, 0=1.84)
= Residual*5
= Trace

)

—(x=2691.47, 0=1.69)
e Residual*5
w— Trace

T pfsArm pfsArm
| ™ (x=2691.40,0=1.63) | = x=2691.42,0=1.70)
calExp calExj

P
m—(x=2691.37, 0=1.79)
e Residual*5
= Trace

o

Y=2702 (dx=8.7e-02, do=4.5e-03)

Y=3439 (dx=1. le- 01, do=-5.5e- 03)

T pfsArm

1 = (x=2692.07, 0=1.24)

1 calExp
= (x=2692.16, 0=1.24)

= Residual*5

- Trace

pfsArm
= (x=2692.47, 0=1.41)

calExp
= (x=2692.50, 0=1.45)
= Residual*5
= Trace

calExp

(x=2693.22, 0=1.21)
e Residual*5
= Trace

L

pfsArm
| ™ (x=2693.50, 0=1.43)

calExp
= (x=2693.49, 0=1.55)
= Residual*5
- Trace

2680 2690 2700

1 = FIS:Azremgs,n, 0=1.22)
2680 2690 2700

2680 2690 2700

Y=982 (dx=-4.9e-02, do=2.9e-02)

pfsArm
| ™ (x=2692.03, 0=1.53)
calExp
= (x=2691.98, 0=1.56)
m—_Residual*5
== Trace

Y=1965 (dx=-6.6e-03, do=8.8e-02)

pfsArm
= (x=2691.35, 0=1.64)
calExp
= (x=2691.34, 0=173)
e Residual*5
= Trace

Y=2947 (dx=6.4e-02, do=-6.7e-03)

pfsArm
| =™ (x=269227,0=127)

calExp
= (x=2692.33, 0=1.26)
e Residual*5

== Trace

pfsArm
I ™ (x=2694.40, 0=1.30)

calExp
= (x=2694.40, 0=1.43)
m—Residual*s
- Trace
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Y=245 (dx=7.5e-02, do=-1.0e-02)

f=216, X=2686.7

Y=491 (dx=-2.1e-03, do=5.2e-02)

Y=736 (dx=1.0e-01, do=-3.3e-02)

Y=982 (dx=9.3e-02, do=-1.6e-02)

T pfsArm
| ™ (x=2687.73,0=1.20)

calExp
= (x=2687.80, 0=1.19)

e Residual*s

pfsArm
1 = (x=2687.13, 0=1.16)

calExp
= (x=2687.13, 0=121)
e Residual*5
== Trace

T pfsArm
| ™ (x=2686.59, 0=1.19)

calExp
= (x=2686.70, 0=1.15)
m— Residual*s
== Trace

LI

T pfsArm

| ™ (x=268626,0=1.17)

1 calExp
= (x=2686.35, 0=1.15)

e Residual*5

Y=1719 (dx=9.1e-02, do=-6.8e-03)

Y=1965 (dx=1.1e-01, do=-2.2e-02)

e Residual*5
= Trace

T
1

1 1
Y=1228 (dx=8.6e-02, do=-8.4€-03) Y=1473 (dx=6.2e-02, do=5.9e-03)
I pfsArm I fsArm
1 — (x=2686.03, 0=1.17) | = (x=268578,0=121)
— calExp | — @k
(x=2686.11, 0=1.16) (x=2685.84, 0=1.22)

e Residual*5
= Trace

pfsArm
| = (x=2685.70,0=120)

calExp
= (x=2685.79, 0=1.19)
= Residual*5

== Trace

I fsArm
| ™ (x=2685.68 0=1.19)

calExp
= (x=2685.79, 0=1.17)
e Residual*5

== Trace

-

1
Y=2702 (dx=1.1e-01, do=-1.8e-02)

1
Y=2947 (dx=1.0e-01, do=-2.8e-02)

= (x=2685.82, 0=1.19)
e Residual*5
w— Trace

1
Y=2210 (dx=1.1e-01, do=-6.3e-03) Y=2456 (dx=1.1e-01, do=-2.4e-03)
N I pfsArm I pfsArm
| =™ (x=2685.71,0=1.19) | = (x=268579,0=121)
I pkcs — ((:LE;GPSS 90, 0=1.20)

e Residual*5
= Trace

pfsArm
1 = (x=2686.02, 0=1.17)

calExp
™= (x=2686.13, 0=1.15)
e Residual*s

= Trace

pfsArm
| ™ (x=2686.24,0=1.16)

calEx|
m—(x=2686.34, 0=1.14)
e Residual*5
== Trace

Y=3193 (dx=1.3e-01, do=-3.6e-02)

Y=3439 (dx=9.1e-02, do=-1.2e-02)

Y=3684 (dx=7.1e-02, do=1.7e-02)

Y=3930 (dx=4.1e-02, do=5.8e-02)

pfsArm
= (x=2686.54, 0=1.18)

calExp
= (x=2686.66, 0=1.14)
= Residual*5
= Trace

T pfsArm
1 = (x=2687.04, 0=1.17)

calExp

(x=2687.13, 0=1.16)
e Residual*5
= Trace

pfsArm
| ™ (x=2687.58,0=1.18)

calExp
= (x=2687.65, 0=1.20)
e Residual*s
= Trace

pfsArm
| ™ (x=2688.36,0=1.17)

calExp
= (x=2688.40, 0=123)
m—Residual*s

2670 2680 2690 2700
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Y=245 (dx=-2.0e-02, do=3.5e-02)

f=217, X=2680.6

Y=491 (dx=3.9e-01, do=1.0e-01)

pfsArm
= (x=2681.19, 0=161) 1
calExp
_ = 2681 17, 0=1.65)
s Residual*s.
w | Trace

e

pfsArm
=== (x=2681.00, 0=1.43)
calExp
- x= 2681 38, 0=1.54)
m—— Residual*s
== Trace

Y=736 (dx=-4.8e-02, do=9.3e-04)

pfsArm
| = (x=2680.19,0=153)

calExp
== (x=2680.14, 0=1.53)
m— Residual*s

== Trace

pfsArm
= (x=2679.04, 0=1.86)

calExp
= (x=2678.93, 0=1.96)
= Residual*5

pfsArm
= (x=2679.10, 0=1.74)
calExj
_(x= 2573 98, 0=1.85)
e Residual*5

pfsArm
= (x 2679.16, 0=1.64) 1

— (x=2679,10, 0=1.70)
= Residual*5
== Trace

w— | Trace w— Trace
1 | (¥
T 1
1
- — — — I - —— —
1
U II T
Y=2210 (dx=-6.7e-02, do=9. 6e-02) Y=2456 (dx=-9.9e- 02 do=1.1e- 01)
pfsArm I pfsArm
= (x=2679.15, 0=1.65) | = (x=2679.12, 0=1.73)
calExp calExp
= (x=2679.09, 0=1.75) = (x=2679.02, 0=1.85)

= Residual*5
w— Trace

]

e Residual*5
w— Trace

Y=2702 (dx=-8.4e-02, do=7.9e-02)

pfsArm
= (x=2679.03, 0=1.86)

calExp
m—(x=2678.95, 0=1.94)
= Residual*5
= Trace

#{H i

pfsArm
= (x=2680.17, 0=1.50) 1

calExp
= (x=2680.14, 0=1.45)
= Residual*5.
= Trace

Al

pfsArm T
= (x=2680.10, 0=183) 1
calExp
= (x=2680.06, 0=1.94)

e Residual*5
| Trace

]

Y=3684 (dx=1.3e- 02 do=4.2e- 02)

pfsArm
= (x=2681.19, 0=1.52)

calExp
= (x=2681.20, 0=1.56)
= Residual*5
= Trace

2670 2680 2690

2670 2680 2690

2670 2680 2690

Y=982 (dx=5.4e-02, do=-6.4e-02)

pfsArm
— (x 2680.07, 0=1.44)
il (x:zeao.lz, 0=1.38)
7| == Residual*s
== Trace
Fg_dLl'_ _|_

A

Y=1965 (dx=-9.5e-02, do=7.0e-02)

| == Residual*5

pfsArm
= (x=2679.20, 0=1.59)

calExp
— (x=2679.10, 0=1.66)

= Trace

Y=2947 (dx=5.7e- 02 do=-1.3e- 01)

[ ol

— (x zeao 08, 0=1.42)

Exp

= (x:2630.14, 0=1.29)
= Residual*5
- Trace

<R

Y=3930 (dx=-1.5e-01, do=1.2e-02)

| = Tace

pfsArm
= (x=2682.13, 0=141) 1

calExp
(x=2681.99, 0=1.43)
e Residual*s

2670 2680 2690
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Y=245 (dx=5.2e-02, do=8.8e-03)

f=218, X=2674.4

Y=491 (dx=7.5e-02, do=-1.1e-02)

pfsArm T pfsArm T
= = (x=2675.45, 0=1.15) 1 - = (x=2674.78, 0=1.15) 1
calExp 1 calExp 1

= (x=2675.50, 0=1.16)

w—— Residual*5
== Trace

= (x=2674.86, 0=1.14)
s Residual*5
w | Trace

1 1
T T T T T T T T
Y=1228 (dx=1.1e-01, do=-1.8e-02) Y=1473 (dx=1.0e-01, do=-3.7e-03)
- pfsArm I 1 pfsArm I
= (x=2673.69, 0=1.15) 1 = (x=2673.54, 0=1.15) 1
calExp 1 calExp 1
= (x=2673.81, 0=1.13) = (x=2673.64, 0=1.15)
m= Residual*5 m—— Residual*5
= Trace

i Trace

mm= Residual*5
7| == Trace

1
Y=2210 (dx=1.0e-01, do=-8.0e-04) Y=2456 (dx=7.5e-02, do=1.1e-02)
pfsArm I pfsArm I
= (x=2673.45, 0=1.15) 1 = (x=2673.54, 0=1.15) 1
— calExp 1 — calEx 1
(x=2673.55, 0=1.15) (x=2673.61, 0=1.16)

m— Residual*5
7| == Trace

Y=3193 (dx=8.3e-02, do=-1.6e-02)

Y=3439 (dx=1.3e-01, do=-3.2e-02)

m Residual*5
w— | Trace

pfsArm T pfsArm T
= (x=2674.26, 0=1.16) 1 = (x=2674.67, 0=1.15) 1

calExp | calExp |
= (x=2674.34, 0=1.14) = (x=2674.80, 0=1.12)

7| == Residual*s
| Trace

7| = Trace

2660 2670 2680 2690

2660 2670 2680

2690 2660 2670 2680

Y=736 (dx=1.0e-01, do=-1.0e-02)

pfsArm T
= (x=2674.33, 0=1.15) 1
calExp 1
= (x=2674.43, 0=1.14)
— Residual*s d

| = Trace

Y=1719 (dx=7.4e-02, do=2.8e-03)

pfsArm T
= (x=2673.45, 0=1.15) 1
calExp 1
— (x=2673.52, 0=1.15) -
m—— Residual*5
| == Trace

Y=2702 (dx=1.2e-01, do=-3.0e-02)

Y=982 (dx=9.5e-02, do=-2.2e-02)

pfsArm T
= (x=2673.99, 0=1.16) 1
calExp 1

= (x=2674.08, 0=1.13)
m— Residual*5
== Trace

Y=1965 (dx=1.0e-01, do=-1.6e-02)

pfsArm T
= (x=2673.42, 0=1.15) 1
calExp 1
= (x=2673.52, 0=1.14)
m— Residual*s

= Trace

pfsArm T
= (x=2673.68, 0=1.15) 1

calExp 1
m—(x=2673.80, 0=1.12)

m—— Residual*5

Y=3684 (dx=1.1e-01, do=-1.6e-02)

pfsArm T
= (x=2675.27, 0=1.16) 1

calExp |
— (x=2675.38, 0=1.14)

m—— Residual*5
= Trace

Y=2947 (dx=1.1e-01, do=-1.8e-02)

] === Residual*5

pfsArm I
= (x=2673.90, 0=1.15) 1
calExp 1

= (x=2674.02, 0=1.13)

== Trace

Y=3930 (dx=4.1e-02, do=9.1e-03)

pfsArm T
= (x=2676.04, 0=1.16) 1

calExp |
= (x=2676.08, 0=1.16)

m— Residual*5
= Trace

2690 2660 2670 2680 2690
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Y=245 (dx=5.4e-03, do=3.4e-02)

f=567, X=591.2

Y=491 (dx=7.9e-02, do=3.3e-02)

Y=736 (dx=3.5e-02, do=8.8e-03)

= (x=587.30, 0=1.17)
m—Residual*s

pfsArm - pfsArm
1 = (x=587.29, 0=1.14) 1 = (x=589.23, 0=1.14)
1 calExp 1 calExp

= (x=589.31, 0=1.17)
m— Residual*s

T pfsArm
1 = (x=590.72, 0=1.20)
1 calExp

= (x=590.75, 0=121)

w—— Residual*5
= Trace

Y=982 (dx=1.3e-02, do=3.7e-02)
T

pfsArm
| = (x=591.89, 0=124)
1 calExp
= (x=591.90, 0=1.28)
m— Residual*s
== Trace

Y=1228 (dx=1.1e-02, do=1.3e-02)

Y=1473 (dx=2.0e-02, do=-2.4e-02)

Y=1719 (dx=-2.0e-02, do=4.3e-03)

m——Residual*5
= Trace

T pfsArm T pfsArm
1 = (x=592.82, 0=1.22) 1 = (x=593.52, 0=1.16)
1 calExp 1 calExp

= (x=592.83, 0=1.23) = (x=593.54, 0=1.14)

mm—Residual*5

pfsArm
| ™ (x=593.86,0=124)
calExp
— (x=593.84, 0=1.24)
w— Residual*5
= Trace

Y=2702 (dx=-5.6e-02, do=6.0e-03)

- m——Residual*5

1 1
Y=2210 (dx=-2.3e-02, do=-2.0e-02) Y=2456 (dx=-3.1e-02, do=-5.6e-04)
I pfsArm . I pfsArm
1 - (x=594.12, 0=1.13) 1 = (x=593.80, 0=121)
1 [ (cfggpa.w, 0=1.11) 1 [ (C;‘:Eggpz 77, 0=1.21)

1 mmResidual*5

I pfsArm
1 = (x=593.40, 0=1.14)
1 calExp

= (x=593.34, 0=1.15)

mm— Residual*5

Y=3193 (dx=-1.6e-02, do=1.3e-02)

Y=3439 (dx=-3.2e-02, do=4.1e-02)

Y=3684 (dx=-5.1e-02, do=7.0e-02)

e Residual*5
== Trace

pfsArm pfsArm
1 = (x=591.68, 0=1.18) 1 = (x=590.42, 0=1.15)
| calExp = | calExp
= (x=591.67, 0=1.20) = (x=590.39, 0=1.19)

mm—Residual*5

pfsArm
1 = (x=588.75, 0=1.19)
| calExp
= (x=588.69, 0=1.26)

mm Residual*5
w— | Trace

o

580 590 600

580 590 600

580 590 600

1
Y=1965 (dx=1.4e-02, do=5.7e-03)
T
1 = ?;253315, 0=1.13)
| = (Cxafsxgp4.1e, 0=1.14)

m—— Residual*5
= Trace

Y=2947 (dx=-1.3e-02, do=-1.6e-02)

1 T pfsArm
1 = (x=5092.66, 0=1.19)
1 calExp

m—(x=592.65, 0=1.17)
m—— Residual*5
= Trace

1
Y=3930 (dx=-7.7e-02, do=1.1e-01)
T
T 1 e Fxfz\sréwe.n, 0=1.18)
| = (cxalesxgs.ez, 0=1.29)

1 m—— Residual*5
= Trace

570 580 590 600
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Y=245 (dx=6.0e-02, do=5.8e-02)

f=577, X=529.3

Y=491 (dx=6.7e-02, do=1.5e-02)

= (x=525.19, 0=1.19)
m—Residual*s

pfsArm pfsArm
1 = (x=525.13, 0=1.13) 1 = (x=527.18, 0=1.13)
1 calExp T 1 calExp

= (x=527.24, 0=1.14)
m— Residual*s

= (x=531.10, 0=1.12)
mmResidual*5
== Trace

== Trace = Trace
T T T T T 1 T T
Y=1228 (dx=3.4e-02, do=-1.6e-03) Y=1473 (dx=2.0e-02, do=-3.8e-03)
I pfsArm - I pfsArm
1 = (x=531.07, 0=1.13) 1 = (x=531.73, 0=1.12)
1 calExp 1 calExp

= (x=531.75, 0=1.12)
mm Residual*5
== Trace

m—(x=532.32, 0=1.12)
m—Residual*5
= Trace

1 1

Y=2210 (dx=-9.6e-03, do=6.3e-03) Y=2456 (dx=-3.4e-02, do=-1.6e-04)
I pfsArm I pfsArm
1 = (x=532.33,0=1.12) 1 = (x=532.08, 0=1.12)
1 calExp 1 calExp

m—(x=532.05, 0=1.12)
m— Residual*5
w— Trace

e Residual*5
== Trace

1 1

Y=3193 (dx=-3.7e-02, do=1.2e-02) Y=3439 (dx=-3.5e-02, do=1.7e-02)
T pfsArm T pfsArm
1 — (x=529.76, 0=1.12) 1 = (x=528.40, 0=1.12)
1 = (cxa‘:E;ngJz, 0=1.13) - 1 — ffI:E;;s.ss, 0=1.14)

m Residual*5
w— Trace

520 530 540

520 530 540

Y=736 (dx=4.5e-02, do=9.9e-03)

T pfsArm
| =™ x=528.78,0=113)

N 1 calExp
= (x=528.83, 0=1.14)

w— Residual*5

= Trace

pfsArm
1 = (x=530.10, 0=1.13)
T 1 calExp

1
Y=1719 (dx=1.5e-02, do=3.6-03)
] T
1 = ?;i?z.w, 0=1.12)
| - (Cxafsxspz.w, 0=1.12)
w—— Residual*5

i Trace

Y=2702 (dx=-4.1e-02, do=-1.2e-02)

pfsArm
1 = (x=531.57, 0=1.12)
1 calExp

m—(x=531.53, 0=1.11)
- m—— Residual*5
| Trace

1

Y=3684 (dx=-4.0e-02, do=5.0e-02)
T
1 = ?xfz\sr;s.s‘a, 0=1.13)
1 = ffLngs.eo, 0=1.18)

m—— Residual*5
=1 w— Trace

510 520 530 540

Y=982 (dx=4.0e-02, do=2.1e-02)
T

= (x=530.14, 0=1.15)
w— Residual*s
== Trace

1

Y=1965 (dx=-1.7e-02, do=1.0e-02)
T
1 = ?Ii?$.37,a=1.12h
| = (C:LEsxapz.as,lesh

m—— Residual*5

_ ] = Trace
|
|
1

| 1
II-

T T 1 T
Y=2947 (dx=-4.6e-02, do=-1.2e-02)

T
1 = F:igrzmojg, 0=1.15)
1 calExp

—(x=530.74, 0=1.14)
m—— Residual*5
= Trace

Y=3930 (dx=-2.6e-02, do=4.6e-02)

T pfsArm
1 = (x=524.48, 0=1.12)
| calExp
= (x=524.46, 0=1.17)
— m— Residual*5

== Trace

510 520 530 540
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Y=245 (dx=6.6e-02, do=1.1e-01)

f=582, X=498.4

Y=491 (dx=6.5e-02, do=5.7e-02)

w— Residual*5
== Trace

T pfsArm T pfsArm
1 = (x=494.14, 0=1.12) _ 1 — (x=496.24, 0=1.12)
1 calExp 1 calExp

= (x=49421, 0=123)

= (x=496.31, 0=1.18)
e Residual*s
w | Trace

1
Y=1228 (dx=-8.6e-03, do=-8.4€-03)

Y=1473 (dx=-6.4e-03, do=2.3e-02)

pfsArm I pfsArm I
| = (x=50024, 0=1.12) 1 _| = (x=500.90, 0=1.11) 1
calExp 1 calExp 1
= (x=500.23, 0=1.11) = (x=500.90, 0=1.13)
= Residual*5 e Residual*5
= Trace

i Trace

= Residual*5
| == Trace

1 1
Y=2210 (dx=-4.8e-02, do=3.5e-02) Y=2456 (dx=-8.0e-02, do=3.2e-02)
T T
— F:Sggnl 52, 0=1.10) 1 — {’Ii'é?.zz 0=111) 1
— calExp 1 — calEx 1
(x=501.48, 0=1.14) . (x=501.19, 0=1.15)

e Residual*5
w— Trace

Y=3193 (dx=-6.4e-02, do=2.1e-02)

Y=3439 (dx=-7.1e-02, do=9.1e-02)

= Residual*5
w— | Trace

pfsArm T pfsArm T
= (x=498.86, 0=1.11) 1 = (x=497.46, 0=1.11) 1

calExp | calExp |
= (x=498.79, 0=1.13) = (x=497.39, 0=1.20)

e Residual*5
| Trace

490 500 510

490 500 510

Y=736 (dx=3.7e-02, do=4.1e-02)

T pfsArm
| ™ (x=497.88, 0=1.11)
1 calExp

- (x=497.92, 0=1.15)
e Residual*s
== Trace

Y=1719 (dx=-1.6e-02, do=4.2€-02)

pfsArm I
= (x=501.37, 0=1.12) 1
calExp 1
= (x=501.36, 0=1.16)
= Residual*5
= Trace

Y=2702 (dx=-7.2e-02, do=4.0e-02)

pfsArm T
= (x=500.73, 0=1.10) 1

calExp 1
m—(x=500.66, 0=1.14)

e Residual*5
| == Trace

1
Y=3684 (dx=-7.4e-02, do=8.7e-02)
T
= fxfi:réws.ss, 0=1.11) 1
o — calExp |
(x=495.57, 0=1.20)

e Residual*5
= Trace

480 490 500 510

Y=982 (dx=4.2e-02, do=2.1e-02)

pfsArm
1 = (x=499.24, 0=1.12)
N 1 calExp

= (x=499.28, 0=1.14)

e Residual*5

Y=1965 (dx=-2.6e-02, do=3.1e-02)

. pfsArm T
= (x=501.56, 0=1.10) 1
calExp 1
= (x=501.53, 0=1.13)
= Residual*5

= Trace

1

Y=2947 (dx=-8.1e-03, do=2.3e-02)
T
T — g0, o110 1

calExp 1
m—(x=499.91, 0=1.16)

e Residual*5
= Trace

|
Y=3930 (dx=-1.5e-02, do=1.1e-01)
T
= F:S:éaréﬂa.u, 0=1.11) 1
1 calExp |
(x=493.42, 0=1.23)

e Residual*5
= Trace

480 490 500
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Y=245 (dx=-8.0e-03, do=6.0e-02)

f=609, X=330.6

Y=491 (dx=1.9e-02, do=5.0e-02)

= (x=325.61, 0=1.24)
m—Residual*s

== Trace

T pfsArm T pfsArm
1 = (x=325.62, 0=1.18) 1 = (x=328.09, 0=1.15)
1 calExp 1 calExp

= (x=328.11, 0=1.20)

w—— Residual*5
= Trace

= (x=332.68, 0=1.18)
mmResidual*5
== Trace

1 1

Y=1228 (dx=1.5e-02, do=-2.9e-05) Y=1473 (dx=2.2e-02, do=-9.8e-03)
I pfsArm I pfsArm
| ™ (x=332.67,0=1.18) 1 = (x=333.50, 0=1.16)
| e | - 1C:|=E3X§3‘53, 0=1.15)

m—— Residual*5
= Trace

m—Residual*5
= Trace

1

Y=2210 (dx=-1.6e-02, do=5.5e-03) Y=2456 (dx=-4.0e-02, do=-1.7e-02)
I pfsArm . I pfsArm
1 = (x=33421, 0=1.13) | =™ (x=333.82,0=118)
I r— (C;‘:E;az 19, 0=1.13) I r— SI:E;%JB, 0=1.16)

m— Residual*5
w— Trace

1
Y=3193 (dx=-4.2e-02, do=-7.8e-03)

Y=3439 (dx=-6.2e-02, do=2.5e-02)

mm—Residual*5

T pfsArm T T pfsArm
1 = (x=331.04, 0=1.13) 1 = (x=329.36, 0=1.14)
| calExp | calExp

= (x=331.00, 0=1.12) = (x=329.30, 0=1.16)

m Residual*5

320 330 340

320 330 340

Y=736 (dx=5.2e-02, do=1.5e-02)

T pfsArm
1 = (x=330.04, 0=1.15)
1 calExp

= (x=330.09, 0=1.17)
s Residual*5
== Trace

1

Y=1719 (dx=-3.4e-02, do=5.5e-03)
T
1 = ?;s;;;:.os, 0=1.13)
| - (C:LE;3P4.01,0=1‘14)

m—— Residual*5

Y=2702 (dx=-5.2e-02, do=-1.3e-02)

I pfsArm

1 = (x=333.25, 0=1.13)

1 calExp
m—(x=333.20, 0=1.12)

mm— Residual*5

Y=3684 (dx=-4.8e-02, do=8.2e-02)

- T pfsArm
1 = (x=327.27, 0=1.13)

| calExp
—(x=327.22,0=122)

mm Residual*5

320 330 340

Y=982 (dx=9.5e-03, do=1.1e-02)
T

pfsArm
1 = (x=331.53, 0=1.17)

— 1 calExp
= (x=331.54, 0=1.18)

m— Residual*5

== Trace

1
Y=1965 (dx=-4.4e-02, do=7.8e-03)
I fSArm
- 1 = (x=334.26, 0=1.13)

1 calExp
= (x=33421, 0=1.14)

m—— Residual*5

1

Y=2947 (dx=-2.7e-02, do=-7.3e-03)
T
1 = ?Iigréﬂz.31,u=1.14;
1 [ ((:LE;;Z.ZS, 0=1.13)

m—— Residual*5

Y=3930 (dx=-1.1e-01, do=1.3e-01)

pfsArm
| ™ (x=324.65,0=115)
| calExp
= (x=324.54, 0=1.28)

m— Residual*5

310 320 330 340



